



CITY OF DELRAY BEACH
100 N.W. 1ST AVENUE, DELRAY BEACH, FL 33444

Solicitation Addendum

Addendum No.: 4

Solicitation No.: 2018-018

Project No.: 16-032

Solicitation Title: Seacrest Beautification, Phase 2

Addendum Date: December 27, 2017

Purchasing Contact: Ryan Lingholm - lingholm@mydelraybeach.com

ITBC NO. 2018-018 IS HEREBY AMENDED AS SET FORTH HEREIN BELOW. CITY RESPONSES TO QUESTIONS POSED BY PROSPECTIVE BIDDERS FOR ITBC NO. 2018-018 ARE ALSO PROVIDED BELOW. THIS ADDENDUM NO. 4 IS HEREBY INCORPORATED IN AND MADE A PART OF ITBC NO. 2018-018.

ADD:

EXHIBIT E, PHASE 1 PRICING SCHEDULE

Exhibit E, Phase 1 Pricing Schedule is added to ITBC No. 2018-018 per this Addendum No. 4.

REVISE:

EXHIBIT B, SPECIFICATIONS, SECTION 01410, TESTING LABORATORY SERVICES

Section 01410, Testing Laboratory Services of Exhibit B, Specifications is revised per this Addendum No. 4. Revisions to this section are denoted by yellow highlights.

QUESTIONS AND RESPONSES:

- Q1. Specification Section 01410 Testing and Laboratory Services states “The Owner will employ services of an Independent Testing Laboratory to perform specified testing.” Specification section 01025 Measurement and Payment 1.02D. states “Density testing required for compacted backfilling, and concrete strength and materials testing required at the time of construction shall be arranged for and paid for by the Contractor. Please confirm which direction the City desires with respect to reimbursement for concrete and density testing.
- R1. The Contractor will employ services of an Independent Testing Laboratory to perform specified testing. Section 01410 has been revised per this Addendum No. 4.**
- Q2. Please forward Phase I itemized pricing, as discussed at the December 13th, 2017 pre-bid conference.
- R2. Phase 1 Pricing Schedule has been added to ITBC No. 2018-018 as Exhibit E, per this Addendum No. 4.**

NOTE: Unless otherwise noted, items that are ~~struck through~~ are deleted. Items that are underlined have been added. All other terms and conditions remain as stated in the ITBC.

End of Addendum

INSTRUCTIONS:

Receipt of this addendum must be acknowledged as instructed in the solicitation document. Failure to acknowledge receipt of this Addendum may result in the disqualification of Bidder's response.

Phase 1 Pricing Schedule

City of Delray Beach
 2018-018, Seacrest Beautification, Phase 2
 Project No. 16-032
 Exhibit E

SCHEDULE OF BID PRICES

ITEM NO.	DESCRIPTION	UNIT	EST. QTY.	UNIT PRICE (in words)	UNIT PRICE	EXTENDED TOTAL PRICE
GENERAL CONDITIONS						
1	Site Mobilization	LS	1	Forty-Six Thousand Dollars Zero Cents	\$ 46,000.00	\$ 46,000.00
2	Maintenance of Traffic	LS	1	Fifty-One Thousand Three Hundred Sixteen Dollars Zero Cents	\$ 51,316.00	\$ 51,316.00
3	As-Built Record Drawings	LS	1	Twenty-One Thousand Nine Hundred Thirty-One Dollars Zero Cents	\$ 21,931.00	\$ 21,931.00
4	NPDES Permit	LS	1	One Thousand Two Hundred Twenty-Four Dollars Zero Cents	\$ 1,224.00	\$ 1,224.00
5	Erosion Control	LS	1	Six Thousand Twenty-Six Dollars zero Cents	\$ 6,026.00	\$ 6,026.00
6	Indemnification	LS	1	Ten Dollars Zero Cents	\$ 10.00	\$ 10.00
7	Project Identification Signs	EA	2	One Thousand Seven Hundred Eighty-Five Dollars Zero Cents	\$ 1,785.00	\$ 3,570.00
8	Photo Documentation/Historic Photo Inventory	LS	1	Three Thousand Five Hundred Eighty Dollars Zero Cents	\$ 3,580.00	\$ 3,580.00
9	Unforeseen Condition Allowance	LS	1	Fifty-five thousand Dollars Zero Cents	\$ 55,000.00	\$ 55,000.00
10	Video Allowance	LS	1	Three thousand Dollars Zero Cents	\$ 3,000.00	\$ 3,000.00
DEMOLITION						
11	Clearing and Grubbing	LS	1	Thirteen Thousand Three Hundred Sixty-Two Dollars Zero Cents	\$ 13,362.00	\$ 13,362.00
12	6" Thick Driveway Apron Removal	SY	320	Twenty-Six Dollars Zero Cents	\$ 26.00	\$ 8,320.00
13	Pavement Removal	SY	1,350	Twenty-Four Dollars Fifty Cents	\$ 24.50	\$ 33,075.00

Phase 1 Pricing Schedule

City of Delray Beach
 2018-018, Seacrest Beautification, Phase 2
 Project No. 16-032
 Exhibit E

ITEM NO.	DESCRIPTION	UNIT	EST. QTY.	UNIT PRICE (in words)	UNIT PRICE	EXTENDED TOTAL PRICE
ROADWAY						
14	1" Milling and Resurfacing	SY	4,800	Fifteen Dollars Eighty Cents	\$ 15.80	\$ 75,840.00
15	Variable Depth Milling	SY	55	Twenty-Four Dollars Fifty Cents	\$ 24.50	\$ 1,347.50
16	8" Compacted Limerock Base Incl. Prime Coat	SY	1,428	Fifteen Dollars Fifty Cents	\$ 15.50	\$ 22,134.00
17	1.5" Type SP 9.5 Asphalt Surface Course 2-0.75" lifts Incl. Tack Coat	SY	1,263	Sixteen Dollars Eighty Cents	\$ 16.80	\$ 21,218.40
18	12" Compacted Subgrade	SY	1,628	Two Dollars Sixty Cents	\$ 2.60	\$ 4,232.80
19	Colored Asphalt Coating	SY	1,110	Thirty-Nine Dollars Zero Cents	\$ 39.00	\$ 43,290.00
20	Type "F" Curb	LF	975	Nineteen Dollars Forty Cents	\$ 19.40	\$ 18,915.00
21	Valley Curb	LF	300	Sixteen Dollars Thirty Cents	\$ 16.30	\$ 4,890.00
22	4" Thick Concrete Sidewalk	LF	812	Twenty-Four Dollars Fifty Cents	\$ 24.50	\$ 19,894.00
23	6" Thick Concrete Sidewalk	LF	375	Twenty-Eight Dollars Sixty Cents	\$ 28.60	\$ 10,725.00
24	6" Thick Concrete Driveway Apron	SF	315	Five Dollars Sixty Cents	\$ 5.60	\$ 1,764.00
25	Curb Ramps with Tactile Surface Pavers	SY	368	One Hundred Nineteen Dollars Zero Cents	\$ 119.00	\$ 43,792.00
26	Swale Grading and Sodding	SY	1,300	Twelve Dollars Twenty-Five Cents	\$ 12.25	\$ 15,925.00
27	Pedestrian Signal, LED, Countdown, 1 Direction "Complete"	EA	6	Eight Thousand Eight Hundred Dollars Zero Cents	\$ 8,800.00	\$ 52,800.00

Phase 1 Pricing Schedule

City of Delray Beach
 2018-018, Seacrest Beautification, Phase 2
 Project No. 16-032
 Exhibit E

ITEM NO.	DESCRIPTION	UNIT	EST. QTY.	UNIT PRICE (in words)	UNIT PRICE	EXTENDED TOTAL PRICE
28	Stop Conditions/Striped Crosswalks/Pavement Markings Traffic Signage at Intersections	LS	1	Thirty-Five Thousand Two Hundred Five Dollars Zero Cents	\$ 35,205.00	\$ 35,205.00
29	Irrigation Modification (George Bush Blvd & NE 2nd Avenue)	LS	1	Four Thousand One Hundred Eighty Dollars Zero Cents	\$ 4,180.00	\$ 4,180.00
30	Full Depth Pavement Crack Removal and Restoration (Incl. Tack Coat and Prime Coat)	SY	75	Twenty-Four Dollars Fifty Cents	\$ 24.50	\$ 1,837.50
TOTAL EVALUATED BASE BID				Six Hundred Twenty-Four Thousand Four Hundred Four	\$	624,404.20
BID ITEMS 1 through 30 (in numbers)				Dollars		
				Twenty		
				Cents		

ADD ALTERNATE

31 DECORATIVE PAVER BRICK CROSSWALKS

31.1	Brick Pavers	SF	3,600	Twelve Dollars Zero Cents	\$ 12.00	\$ 43,200.00
31.2	12" Header Curb	LF	960	Nineteen Dollars Ten Cents	\$ 19.10	\$ 18,336.00
31.3	Pavement Removal (DEDUCTION)	SY	400	Zero Dollars Zero Cents	\$ 0.00	\$ 0.00
31.4	1" Milling and Resurfacing (DEDUCTION)	SY	540	Ten Dollars Zero Cents	\$ (10.00)	\$ (5,400.00)
31.5	8" Compacted Limerock Base (DEDUCTION) Incl. Prime Coat	SY	400	Ten Dollars Zero Cents	\$ (10.00)	\$ (4,000.00)
31.6	1.5" Type SP 9.5 Asphalt Surface Course (DEDUCTION) 2-0.75" lifts Incl. Tack Coat	SY	400	Ten Dollars Zero Cents	\$ (10.00)	\$ (4,000.00)
31.7	12" Compacted Subgrade (DEDUCTION)	SY	400	One Dollars Seventy-Five Cents	\$ (1.75)	\$ (700.00)
TOTAL EVALUATED ADD ALTERNATE				Forty-Seven Thousand Four Hundred Thirty-Six	\$	47,436.00
BID ITEM 31 (in numbers)				Dollars		
				Zero		
				Cents		

Phase 1 Pricing Schedule

City of Delray Beach
 2018-018, Seacrest Beautification, Phase 2
 Project No. 16-032
 Exhibit E

ITEM NO.	DESCRIPTION	UNIT	EST. QTY.	UNIT PRICE (in words)	UNIT PRICE	EXTENDED TOTAL PRICE
32 SIDEWALK REMOVAL AND REPLACEMENT						
32.1	4" Thick Sidewalk Removal	LF	1,620	Twelve Dollars Zero Cents	\$ 12.00	\$ 19,440.00
32.2	6" Thick Sidewalk Removal	LF	375	Fourteen Dollars Ninety Cents	\$ 14.90	\$ 5,587.50
32.3	4" Thick Concrete Sidewalk	LF	1,620	Twenty-Four Dollars Fifty Cents	\$ 24.50	\$ 39,690.00
32.4	6" Thick Concrete Sidewalk	LF	375	Twenty-Eight Dollars Sixty Cents	\$ 28.60	\$ 10,725.00
TOTAL EVALUATED ADD ALTERNATE BID ITEM 32 (in numbers)						\$ 75,442.50
				Seventy-Five Thousand Four Hundred Forty-Two Dollars Fifty Cents		
33 ASPHALT RUBBER MEMBRANE INTERLAYER (ARMI)						
33.1	2.5" Milling	SY	3,650	Five Dollars Sixty Cents	\$ 5.60	\$ 20,440.00
33.2	ARMI Layer Incl. No. 6 Aggregate	SY	3,650	Fifteen Dollars Sixty Cents	\$ 15.50	\$ 56,575.00
33.3	1.5" Type SP 9.5 Asphalt Surface Course	SY	3,650	Fifteen Dollars Sixty Cents	\$ 15.50	\$ 56,575.00
33.4	1" Milling and Resurfacing (DEDUCTION)	SY	3,650	Twelve Dollars Twenty-Five Cents	\$ (12.25)	\$ (44,712.50)
33.5	Full Depth Pavement Crack Removal and Restoration Incl. Tack Coat and Prime Coat (DEDUCTION)	SY	75	Twenty-Five Dollars Fifty Cents	\$ (25.50)	\$ (1,912.50)
TOTAL EVALUATED ADD ALTERNATE BID ITEM 33 (in numbers)						\$ 86,965.00
				Eighty-Six Thousand Nine Hundred Sixty-Five Dollars Zero Cents		

SECTION 01410 TESTING LABORATORY SERVICES

PART 1 - GENERAL

1.01 REQUIREMENTS INCLUDED

- A. The **Contractor** will employ services of an Independent Testing Laboratory to perform specified testing.
 - 1. Contractor shall cooperate with laboratory to facilitate the execution of its required services.

1.02 LIMITATIONS OF AUTHORITY OF TESTING LABORATORY

- A. Laboratory is not authorized to:
 - 1. Release, revoke, alter or enlarge on requirements of Contract Documents.
 - 2. Approve or accept any portion of the Work.
 - 3. Perform any duties of the Contractor.

1.03 CONTRACTOR'S RESPONSIBILITIES

- A. Cooperate with laboratory personnel and/or Engineer, provide access to Work or manufacturer's operations.
- B. Secure and deliver to the laboratory adequate quantities of representational samples of materials proposed to be used and which require testing.
- C. Provide to the laboratory the preliminary design mix proposed to be used for concrete, and other material mixes which require control by the testing laboratory.
- D. Furnish copies of Products test reports as required.
- E. Furnish incidental labor and facilities:
 - 1. To provide access to Work to be tested.
 - 2. To obtain and handle samples at the Project site or at the source of the product to be tested.
 - 3. To facilitate inspections and tests.
 - 4. For storage and curing of test samples.
- F. Notify the CEI sufficiently in advance of operations to allow for laboratory assignment of personnel and scheduling of tests:

When tests or inspections cannot be performed after such notice, reimburse Owner for laboratory personnel and travel expenses incurred due to Contractor's negligence.

- G. Make arrangements with the Engineer and the laboratory and pay for additional samples and tests required for Contractor's convenience.

PART 2 - PRODUCTS

Not used.

PART 3 - EXECUTION

3.01 PAYMENT

- A. Testing of materials and products will be performed by an independent testing laboratory appointed and paid for by the Contractor. Testing will be performed so as to least encumber the performance of Work.
- B. The Contractor will be authorized the cost of one (1) series of tests only, on the area or item being evaluated. The Contractor shall pay for costs of additional testing as required due to improper performance of Work.
- C. When work of this contract or portions of work are completed, notify the Engineer so that arrangements can be made with the laboratory to perform or witness the tests. Do not proceed with additional portions of Work until results have been verified.

END OF SECTION